@ Eksponentit 10

Nimi: Paivamaara: _ Pisteet:
102 = 4,72 x 10° =
5x10° = 3x10% =
6x 10* = 3,13+ 10" =
5,71 x 10" = 9,78 x 10* =
6,46 x 10° = 10% =
1,33+ 10° = 3,72+ 10 =
5,86 x 10" = 4,97 x 10° =
10° = 10% =
8,44+ 10" = 9% 10 =
3% 10 = 2% 10° =
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@ Eksponentit 10

Nimi: Paivamaara: _ Pisteet: __
10 = 100 4,72 x 10° = 4720
5x10° = 500000 3 x 10% = 300
6 x 10* = 60000 3,13+ 10" = 0.000313
5,71 x 10* = 57100 9,78 x 10> = 978
6,46 x 10° = 646000 10° = 1000000
1,33+ 10° = 1.33 3,72+ 10=0.372
5,86 x 10" = 58600 4,97 x 10° = 4970
10° = 100000 10* = 10000
8,44 + 10* = 0.000844 9% 10 =90
3 x 10 =30 2 x 10° = 200000
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